Auhlppo com

an® .‘ | | | | AAOGS/17
20000153

GTeusT

2017

. - QAungl sifley
(CuweBlene soalgsrid)

Sig@iwdssiulGerer Gorwn : 2 wewfl] : [Qurgs wHuQuemsdr : 200 .
s;fllamé&@é@ ufedsguen SpssarL o Heyamyaamer SauGmONEL] UigS&EaD
' . pédwu Siflajerser
1 @;5;5 ellemmg  QgmELy G}srrm Qgsm_rmgengm(g 10 ﬁl.&l,m&;@&@ Qparmgm &wwuuggmfﬂeﬁ@&@

aupmSILIHID. .
2. @bs eg QAsnguy 100 Sennésenars Qarar@ereng. el wellés Glg_r,m_rmgq.pm @ma‘ﬂmng@grr@ul_‘ﬂw
- ader damssepd @Uib QubpdeTeer aaTLMSYD @eLudd FEIbd Qmmgxggnmasm 2 aTenaieuT
aeruegyw, shurisgs Gamdrareyd. gGsEuD GopUTE Qouder, sigmar usy PO EsEHEGE
SpsansrafiiurafiLb Czfdlgs, sfuns o drar CaQpnm dams Qsr@gu9eear Qupps Aararer -
Gauar@w. Csiay Aprmdw Gery, gpeopllLrd demmg Agrgluy wrpHs srouL I Lrg.
e eflenméaEnéEh edleLwaflsaab. ereem eflamasEsid swiorer wHUCQLaETET QsTaRTL ey, *

- 4 2msEheLw ufle) aanee Bb51 usssfldr aiwg God apamauio agm@&m amwp;gjmm @Lsdo Sriusar

a8 Ceuam(BLd. Geumt eranguyid ellerns QSTELIND 6T(PSH L g,

el smems GHIFE ST L e, llepLSHTeT QaD 2 RHEHEES SETSTEILILTATITED STUILEHD.

6. e.ms@ LW Lfle e, Goieyggmer orawr HMD Mams@snELY aflas aar (S1. No.) wsdwepanyn
dilen_ggraflen @ramLmd LssEsHe @esEhEsTE Bamwpgerer GLmisdld fob oz smow Hp

- ewwyerLw upgipment Criamalenmd GPgss sl CouadrHin. Cupasar,. efurhisme aleLsgraficd Srsdr
- GIEES sTLS seudlemme Caiaunmannyu sifledsamsuiic @gHundl Rerareunm pLaigsems GupOaretetiiu@n.

7. geiCleum eflamayb (A), (B), (C) wipmib (D) eren meins; eflem_sendnd: Quanaim(erengs). Susar <iemausalled G g sfwunen
eSlerL_amwup Gairey Qaiig) oflanssnafler @ilsss sm L Caem@Lb. gemudE GunLl i swne eflenL e et Caamalildg
QmiusTss shHemd Brusedr Bles sfuneng) cremy crensd smEIRBIHGT Sibs ellen_enw ellent_Ssrefle) GHlsss sm L
Gouam(pid. eiuqumligid em Gadtalilig @G o e enwissren CommpQshids Coudim(ib. m@af)uu Gumgsg
fUQUSEaT Briuse aflent_Sgmefler @Blsgs sm_(Rub sfwmer sdenLseflan crarmeniidmsewi OUIDGSS.

8. aflenL_ggraficr geuleunm Caerelll cramanfihEd el @ ®, © LoHmD @ eren BiTen@; eflen_ cul L g 2 dTermat.
o Gaereili@ eflep weflss Brisar sfitwer amgb efleemu @G gm el L SHd WL L LGS e
Guamellame @hlsgs snL CaamBi. gadaunm Caarells@d o elanLawd Coiplsbss el ssrafie @hés
Geuam(id. ¢ Caerells@ gamse Guiull eferwafigsnd oibs elleL: FauDragna SHmELILHD. 2 FTFTONS
ﬁm&m.crmuang sflwnen elenLwinas smlanme sieng emeumony @Hlesis sm_L Couam@ib.

@000

9. prsdr eams angulﬂm ahgl ussasud BEaGaur wag . HifssCunr sminrg. Csiey Gmu@ﬁw Bbs

elantg QgrEudaaCur sidhag el sgraaGur Goirays s sms ol @ Qauciild a@sss QsdwsamLg.

Gsiiey puphsien Briser sa_rmesgggml_u_l eﬁ@ml_ﬁgrrwma; a;m'ra;rrawﬂuurrmrﬂl_w Q&n@g@[ L. Ceauar(RLb.
. e +Q

®

=

cuellenns Qgn@Litlenen

10.  @dliyser apfo unrlughe Q’:ﬂemrg an@u e s LssEHDE, Q,oaruasas§m§ 2 1Gw rreﬂgsgjas QaneraTend.
11.  gade ageald Asr@ssiul@erer GHlULsagTa Wy euTansTELD.

12. el QgrELde daew Gl Ceur, AU HE smiL Ceur saLrg. .

13. Guhsar, demysaic CTeNSWINEUS) Lﬁ,rﬂemra) GCsmeumenarTiid @q@@@&@m By EMEEEREE 2 eTaTns
: CpA@W eram SiflepssLLBEDS. :

v L - SEE BACKSIDE OF THIS BOOKLET FOR ENGLISH VERSION OF INSTRUCTIONS . |

3

) i [Turn over
Auhippo.com :



SPACE FOR ROUGH WORK - ‘Auhippo.com -
el O

AAOGS/17 " 2

Auhippo.com



Auhlppo com

q and B travel the same distance at the speeds of 10 kmph and 15 kmph respectxvely
If A takes 30 minutes longer than B then distance travelled is

v 15km B (B) 20km
(© 90km - (D) 30km

A, B aargib @i, gGr smsms wempGu 10.£.LS./mm:ﬂ. 15‘_ &.8. /vl Causse sLBS
Qeodpnirsdr. B-g eflL. 30 Hl_kisdr sifsn A a@sgis Asrardpnit crafldr seutsdr sLbg Qe
ST Gremen? ' :

@) 1548 ' ®) 2045

© 9048 - (D) 3048

R:emainder when the polynomial 5"35‘ 2x% —6x+12 divided by (x+ 2) is
(&) 5x*-8x+10 : " (B) x+8 .
W s S D -7

5x® +2x% ~6x+12 -é (x +2) ;;52;,0'.) eu@r,ésaseh deoL s B arg)?

"(A) b5x2-8x+10, ' B) x+8 .

© -8 | D -T2

In a rectangle if the length is increased and breadth is reduced by 3 ¢cm then area is reduced
by 18 cm?. If the length is reduced by 1 cm and breadth i is increased by 2 cm then the area is
increased by 14 cm2 Actual length and breadth of the rectangle are respectively

13 cm; 10 cm , - (B) 1l4cm;9cm

© 12 cm; 12 em . , (D) 15cm;8cm

o QssicussHar ford 3 Qs.i8. sievey HFsNssLULLH sob 3 Q.5 ey G@DESILLLTD
ul;ruucm.marg 18 Q#.18.2 Harey GoDHs A@. HergHo 1 Ge.B. eTey GODPSEELILLD Sis0FHD
2 Qe.S. ety sifsfssiulLnd urlidereurang 14 @s.8.2 SHanay a;ﬁa;lﬂggj ef(Hid. erafled
@15QscaussSar Barb HHID Siseb pepGL

(A) 13Qs.5:10Gs.8 T ® 14Ge8:9 Qs
© 12Qs.15;1208.8. ._ (D) 15Q@s.5.:8Qs5.
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4. | Edge of a cube is 1ncreased by 50%. then find percentage increase in total surface area‘ the
cube.. - .
A)  108% ‘. 0/125%'
(€) 90% ‘ (D) 80%

R &Heor egrjg)(ef)lm u&sd 50% &UJW§§UUL_L.ITQ) DB Glmrrg,g,u qmuugulﬁlm ghu L sHafinden -

Fgell &g ergimen? _
(A) 108% - - (B). 125%

© 9% - - | . D) 80%

5. 129°-29% =17 .
(A) _ 12000 (B) 15000

15800 | | ®) 10000 |
1129%-29% =2 . . ‘
(A) 12000 (B) 15000
(Cy 15800 ) : - (D) - 10000
6. ‘Sum of a number and its reciprocal is 4 then value of sum of cube of the number and

reciprocal of the cube is : L

@ e 52
©) 48 | - D) 24

@ GTeRr WHmID BiGen gmwﬁgﬂuﬂw gl (N50sTens 4 erafle, aeu@msmaaﬂm Q,owmlq. Lo;og;jl.o
wwyblen gamadfl o, dwenHher &L@g,@grrcm; Greusumeu? :

(A) 64 . (B) 52 .
(C) 48 : - (D) 24 ' | '
7. An angle and its supplementary angle are in thé ratio 4 : 5 then that angle is -
o s o ® 100 ~
(©) 40° | D) 50°

(5 Gesrrlaﬂsr@m gen Blens Hriys Gararmapid 4 : 5 eranp 185580 QU6 2iECaHTammd org;?

(A). "80° - | ® 100°
(C) 40° , E D) 50°
AAOGSNT . " | | o
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8. ‘CF of x2—2:gr+y2 and x* ~y* is PPO.

@ 1 ‘ | B) =x+y

& ey @ ey

x% ~ 2xy +'y2 whmd x* - y* ;g,‘!ﬂwmﬁ)gﬁlér'ﬁul@u@ Qurg augsS (B.Aum.eu.) érg?
@ 1 o B z+y. ‘ |
© x-y o D -y

| 9. TAMIL is coded as RCKKJ then MATHS 1s coded as

" KCRIQ , : @) KCRRU
(© RCKKU . (@ RCKIQ

' TAMIL erengd Qemed RCKKJ eTends @;ﬂuﬁn_l_rr&asm G&u.uu_uu L’ Lmeé» MATHS Gr@m Q&rrwgz[&.@tﬂw |

GHSL LTS 6Tg)?
(A) KCRIQ (B) KCRRU

(©) RCKKU - - (D RCKJIQ

10. Among five liquids A, B, C, D, E the boiling point of A is less than that of E but more than
‘ - that of B where B has a higher boiling point than C. The boiling pomt of D is higher than
~ that of E. Which liquid has the least boiling pomt" ' :

A A : | (B) B

S C ® D

A B, C, D, E eremp gmps ﬁnmm&@m A-dan Gsrd Qaufieewrag E- e Qard
Gauiufiooeaw s Gopaursan B-tar QAsrd Qaliufleoamus sTlggidb @{ﬂa;wrramm
B-aig C-udern. Qand Qeuuuﬂmeucnu_la; slgand Sfsorsed Qmsdpg. D- ué Qard

- Qautufleewrag B- - leTenmd HTLiq gItb aq@su: aafle aThg ﬁnw;ﬁm Qarg Gmuu@mw Bes

@mpmn&; @@5@m?
A A (B B
© ¢ ™. D
o s AAOGS7
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11.  nth term of a series is given by a, = (-1)"(1-n+2"). Then 5% term of the seﬁeﬁ%hlppo.com

@ -21 . ® -6
M—zs | S D 6

" gm Gpriflan n-gyb e gl srgd anlur® a, = (-1)"(1-n+2") aaé Asr@astu’Gererg
craficr SigQgm_Mew 5-gub 2 mUL 6rg? |
A -21 : ® -6

© -2 | D 6

12. If k+1, 3k and 4k+2 are any 3 consecutive terms of an Arithmetic Progression theh value
of kis | . - ' |

@ 0 ‘ ® 1

© 2 - o 3

k+1, 3k Lbﬁ)mtb 4k +2 gfluen gm am.'-@ﬁ Apm_fé siewdanper arafled k-ar wHuy.
@ o ® 1 |

© 2z S @3

- 13.  Find the missing number :
| 1,3,6,10,7 21,28 ...

@A) 16 o \Q( 15 .
© 20 | ®) 17
eBlGuLL CTERTENGINT S BTG

1, 3,6, 10,7 21, 28 ...

A 16 B) 15
© 20 O 17
AAOGS/17 - 6 « . | -
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~-14. A monochromatic hght of wavelength 589 nm is incident on a water surface hg&ng

refractive index 1.33. Find the velocity of light in water.

“(A)  38x10°ms? - o 332 ms™

(C) 280ms™ = ' M 225x108ms-

geflefaad erar 1.33 2w BlariBg 589 nm S SargpeLw ghan Hip gafl UGADE. .S:ﬂ@jdr

gafillen SlawsCausgms seansdl®.
A 3x 108 ms™ - B) 332 ms\'1
. (C) 280ms™ o (D)  2.25x10°ms™

15. The colour light emitted by LED depends on

(A) its reverse bias ' (B) its forward bias

(C)  the amount of forward current M type of semiconductor mai;e;‘ial
gafl 210 e _Cuimg e 2 1Bplu@b gefluer fipb —— FATHSEI.

A  sipar YenGamag sriy B e eiGamé smiy _

(C) aCanag faCam_Loerey = (D) @mgoal;gﬁ Qurmefien euens

16.  Which is called “Aqua tortis™? - o
@ HSO0, ¢ o,
(©) HCl L @) H,PO,
“S@eur Lmirgav” eranpenpdaliLi(Reug) 6Tg?

A). HS0, (B HNO,
© HC o | (D). H,PO,

& | T ~ AAOGS/17
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17. Insectxvorous plants not able to synthesxze enough protein due to the deﬁcxency ol%

(A) ydrogen ‘ (B) Carbon

M Nitrogen ‘ ) Oxygen

. 5#&1 2. agniD QITQJIIIE':.IEBG'T. u;bmrré@mmaﬁlmrrcb Urssens §u_1rriﬂés& Yyaufome.
V(A)- | @D LI , - ®) smirLen
€) oplgger . (D) ypsdigen

- 18.  The total amount of energy released from one molecule of glucose on oxidatiph is about.
(A) 2600kdJ B) 2300kd
v 2900kJ D) 2500kJ

@M esmD GEHEGatd wuyewwrer HsdgCappsia Gurg Geaeliuu@sgid <y HmSen

DeTey
(A) 2600k B) 2300kJ.
(Cy 2900kJ . (D) 2500kJ

19. Which is known as “Sundew Plant”?

(A) Cuscuta : \/ Drosera

(C) Vanda ‘ ’ ' (D) Viscum

' @iﬂu.l uefggells sreurb erenmy SienssiLBeug

A) @I ®) LCyaSyr
(C) eumemTLT o D) eflevsd
AAOGS/17 | 8 ' ~ &

Auhippo.com



© 20. Which player of India played most Test matches as captain?

21.

22.

Auhippo.com

M.S. Dhoni

- (B) - S.Ganguly |

(C) Mohammad Azharuddin
(D) S.Gavaskar

siflswonan Qv Gumsaid Galiams edemanuiyw @bSu ey wrir?
(B)  enb.erav. Gra

R

©C) g ssTHSE

D)  ore. SeumevET

Which is the first team to play 900 One day Internatibnal-Crickef matches?
(A)  Australia | (B) . Srilanka

M India V - (D) Pakistan

1900 g, preT sTuGss AMsQs. G iy safid efleeruimews ool erg?
A) ydCydlwr - T (B) Qenes
© @pfur (D) urdlegnen

-

The Indian rupee symbol % wés adopted by Indian Government in the year -
(A) 2006 R & 2010 '

(C) 2011 - | ®) 2007

@S @unuﬁ]dr_@@uﬁl_rraﬁ T-g @BAL SITE FHHEAETERTL: aumHLLD -
(A) 2006 | . (B) 2010
(© 2011 ' ' . ®) 2007 -

9 | - AAOGS/17
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23. WhichAct legaﬂy recognized the prihciple of election to the legislative councifg'y hlppo..m
(&)  Act of 1861 S (B) Act of 1892

J  Actof 1909 R D) Actof 1919

sl L weanphisgnésrer Caigme sLLgﬁmmns gHmE QsmehT s LD
(A 1861k e sLLID - (B) 1892ib e LD
©) 19090 gyein® s1td (D) 19190 gy UL

- 24, NITi Aayog came into existence on .
(A) 1 January - »1950 : \/ 1¢t January — 2015
(€ 1¢January-1947 . (D) 1 January — 1948

NITI Qb@,l.ﬂl‘l’é DPQES Aarar(® iUl L e _
(a) geauf-1, 1950 g (B) gee-1, 2015
©) . gaafi-1, 1947 : (D) ganeufl-1, 1948

25. Accordmg to Socm—Economm and Caste Census (SECC) 2015, which state has the highest'

literacy rate?
(A Sikkim C (B) ' Tamil Nadu -
W - Kerala : : (D) Haryana

201560 BLBS Feps QUIBETTST] &rrﬁ aurfiwurer seméQE[H LSer (SECC) Ui &g;e;sm; LDﬂ’.Iﬂ@)IEIEGTﬂGD
T mn;ﬁla)g;ﬁm csaﬁa; utq.uugﬁsq &geﬁﬁw zenerrg?

@A) fadp B) slpETH
©) @&uaﬂf' ' o ' D) @ﬁ]urrarrr
\
. AAOGS/17 w0 | o
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~26.  Match List I with List IT and choose the correct answer from the codes given below : - ,

(FIFA World Cup Football)
List I | . ListII
() Russia ) 1. 2006
~(b) Brazil ( _ 2. - 2010
(c) South_Africa. _ ' 3 2014
‘(d) Germany | 4. 2018

@ ® © @

e s 2 1
® 4 3 1 2
. © 3 4 21
O 4 g 3 1

Ul I G&@ﬁél uligwied 1T Gu‘rr@ﬁgm. sflwren GﬁlmL,a)gJ GSGacfedmps CorpAs0 :

(Qunr 2.@stGCarumu STOUBE) |

ALlleq.uJ@ I | _ vl gwed IT
(a) pegum o 1. 2006
® QCrée - 2. 2010
© Opénayifbsr 3. 2014
@ Ogioedl 4. 2018

@ ® ©. @

A) 4 3 2 1
- ® 4 3 1 2
© 3 4 2 1 )
® 4 2 3 1
O | n . AAOGSNT

Auhippo.com . o o [Turn over



27. The Union Government launched the new digital payment system, Bharat aﬁpco! in

February 2017. QR code stands for ‘
(A) Qwerty Response Code . J Quick Response Code

(C) Queue Response Code (D) Quasi Response Code

Qugafl 2017-@é wiHu s umys-QR @@uﬁ_@ aap yu aeramioss uamd As@is)
wpepliener Agmsdluyerengy. QR GMSE erarug Qanss GMEEL .

(A) Qwerty Response @flui@® . | (B) Quick Response giuS®

(C) -Queue Response gHluSH (D) Quasi Response @HluS®

- 28.  The integrated grievances redressal platform for petroleum and gas related queries across
social media launched by the union ministry in March 2017 is

(A) ' Gem SPV
URJA MITRA

M MOPNG e Seva

(D) Petroe Seva

wirirg 2017-Gé, wiHuw amwmggrrw sapa mu_asmasaﬂa) glousdl eaudsiuL., QULGIJ'ITG) WwHYID
aumwg QgL frumen spCHEREEREES T RHEIHmaTHS G®D Sy @u.lrm@;sem.o
(A) Gem SPV
(B) URJA MITRA |
"(C) MOPNG e Seva (MOPNG e-Gaaneu)
(D) Petro e Seva (Qur Gy e-Gsaneu)

29. - The new 4 elements added to the periodic tablé‘since 2011. They are
i (A) 113, 114, 115 and 116 - (B) 115,116,117 and 118 -
" 113,115,117 and 118 ~ (D) 114,116,117 and 118

&@asas'm_a‘.lﬁ}_,nﬁlda g UHw preng epliysser saflo SILLauanaarié 2011-& QevamrésliLL L g?

A) 113, 114, 115 wpmp 116 (B) 115, 116, 117 wpmub 118
(©) 118,115, 117 wpm 118 L (D) 114, 116, 117 wpgd 118
AAOGS/N7 o 12 . o 0
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30. .Which of the following day has the theme ‘Cultural Heritage and Sustainable Tourism’ in .

the year 2017?
(A) World Environment Day
(B)  World Earth Day

W World Heritage Day
(D) World Meteorological Day

‘S@OIFETIL urrm.bulﬂu.@ wHmLD ﬂwwﬁg§§§§$$ &,ﬁj@mn@"w@mz aeTL 51 2017- sy sy pisTar
D5 Hargfen sGUAUNGATTIGD ,

A ocos &!'pyi;@%pc‘o Hemd
B) 2ws L8 Sard |

© awa;urmburﬂﬂ.:ﬁmtb

D) o & auraflweriiey fHerb

31. Pick out the correct étatemént

M The global ’ave‘ra_’ge surface teniperature has incregseii over 20t century by.
about 0.6°C’ ' ‘ S '

(B) The global average surface temperature has increased over ~20Fh century by
about 0.7°C )

(C) The global avérage surface temperature has increased OV_EF 20t century by
about 0.8°C '

(D) The global average surface temperature has increased over 20* century by about 1°C

et gadenn &L iy STL_L LD

@ LefuQen syref Qauliugems Gﬁ]L 20—3;1,[0 g,ngpg_mrmrqeo Q.6°C 2 WITHGIETETS) |
“(B) qeﬁluﬁ]s’ﬁ sonail quuu;é,mg, aéh_ 20-gyld g;ngbgprrdﬁqd} 0.7°C au‘.:r’r@g,jsﬁmé

©)  yeilular &grr#rﬂ Qauliugens eﬂlZ_QO-;%tb gng_f)g)rr@ivrlq_eb 0.8°C aujfrjggjeingj

D) yeulQer sgraf Qeuliusms éﬁh.. 20-yib Brporegd® 1°C é.wr'rgbgmcng

o 13 | - ~ AAOGSN7
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32. Johannesburg 2002 United Nations Conference was on
(A) Software development
(B) Transport development
"~ Sustainable de\_'elopmént'
(D) Community development

| gsdw praafien wrpn@ 2002-Gé ng&@m@uun&ﬂm BLHSE. @Sen Gprr&a;m
(A) Quen@urmer Guwbur®
B) Gurégasg Gobur®
©) GuanssEhs CobU®
D) sFaps Cobur®

33.  Match List I with List II :

List I List II
Place : River
(@) London - 1. Seine, -
(b) Paris 2. Thames
(¢) Soviet Union 3. Cauvery
(d) Tamil Nadu 4,

‘ Volga =~
@ - ® © @ |

@a_ 1 3 4 2
2 1 4 3
() 4 3 2 1
. D) 2 3 1 4.
ulwed I-g uligwed Il-2.1_én Glurr@,sgjs
A uliguwe I _ U igwie 11
@ s
(a) a6 ' 1. &
(b) wnflev 2. G,stbdo .
» (€ Gemelwg wefwer 3. ameflft
d sHpsrE ‘ ' 4. Caunmesr
() ® © GV
A 1 3 4 2
® 2 1 4 3
© 4 3 2 1
® 2 3 1 4
AAOGS/17 o 14 -
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34. .Where we can see the ‘Sigiriya Pamtmgs which is highly influenced by the A]antha style?

- 35.

36.

(A) Burma _ o (B) Sumatra
(©) China | P Sri Lanka

2gHsn gellutisaier grésgamsls Qupmperer “AHfwn geflukisdr 2 arar @L b

(A) Ui . | B suwgmm
(©) Sar | (D) Qekes

- List out the five dynasties of Delhi sultanates in order

Slave, Khilji, Tughlaq, Sayyids, Lodis
(B)  Khilji, Slave, Tughlaq, Lodis, Sayyids

(C)  Lodis, Sayyids, Tughlag, Khilji, Slave
(D) Slave, Lodis, Sayyids, Khilji, Tughlaq

QLevell srgraflugans 2 H QFLg gHe absFhsmar aflesiLDSgIs
A)  sipew, Hog, Eas, eswug, Gomg
(B) Hogd, sgow, giders, Cang, dsug

- (C) Gomg, evswig), géssﬁés, g, e

D)  @igew, Comg., mawigl, S, Fibars

The founder of the Bahmani kihngm was
(A) - Muhammad Shah

(B) Firoz Shah

(©) Mahmud Gawan

w Alauddin Bahman Shah -

-umfiefl sipens Himellwieui

@) psogiagr
(B) 9Cpmev agr

©). @pésmg] &meUes

D) soraSed LIMDETagIT

5 ,  AAOGS/17
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37.  “Doab” means Auhlppoe m

(A)  The region between two cities -
The region between two rivers

(C)v The region between tWo niountains

) None of these

“Ggsrr c%u Gfasrtluu@éug
A Bm parhsERsE @oLuul L uGH
B QmrHsErsE e iul UGS
©€) O veVsERESE oL UL Houuss
D) v @m;bg;d‘r‘crgjmtﬁcbmw

38. The First Secretary General of SAARC
~(A) Jinnah J Abul Ahsan
(C) Kofi Annan A B D) Gandhyji

Fié el Ger @geb Qurgi& Qewement ‘
@  gerem B e apeyrer
© = Gsrdgaar | D) srHHs

39. Pt. Jawaharlal Nehru's 'Five principles of peace are nampd as
- (A) Swadeshi |
(B) Apartheid -
(C) New Deal
Pancha Sheel

LGy & Rouaniere Grheden ammﬁé;a;rrm LHS Silbs QneTans
@)  sGsd |

B) Qo ggssd

©)  uduuvwgdenn.

D) ugrs fad -

AAOGS/7 - BT ~ | o
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40. @ Recognized official language of India

41.

42,

(A) 25 , .m’ 22

© 23 - N ) 1

QpHureied omEsMssiuL Qm}r@a;e'rr
Ay ' 2‘5 : . O ® 22
© 23 o . (D) 27

The Supreme Court consists of how many judges?

7 S S ® 2

© - 25 D 21

&#&fj@mmmgﬁd gsmnemb BHUS 2 L erss@an BHLSSET 2 eeTait?
(A) 26 . B) 22
€ 25 - B ® 21

The Parliament of India consist of

(A) One house

M Two houses

(C) Three houses
(D)  Four houses

@EQM urrr;rr@wsbﬁg)u':- —  s@aew Qa;}rderg,rr@Lb. ‘

| @A) g0

(B) ’ .@Uaiw(b\ a@@&ﬁ

(€)  epeny emeusar

D) pmreng .,-_yméua;dT

17
. Auhippo.com
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_ 43, _An entrepreneur is like _ S Auhippoem
(A acrow : : B). _aduck | |

(C) apeacock ‘ , an eagle

2@ AsmfopamenGami eTemUIGIT WiTen Gue 2 arammir?

A @@ artad o o ' B) emanggy
©) eowdd - D) ¢0sys

44. How many people does each ration shop serve?
2000 | (B) 2500
(C) 3000 | o (D) 3500

geuGaurm Hurw cddeows &ém_um) srémsrra; L&ESEFES 2 geydlng?
(A) *© 2000 | - | (B) 2500 N
(C) 3000 o (D) 3500

_ 45.  Which Governmeﬁt started the Land reform legislation?
' (A) Panchayat
Local Government

\M State Government

{ ) Central Government

Peesidmss s1L_gag Agmmiflu Sips eg?

A) uvesmuggy
(B) o dTEnT TS
©) ovrfesgs , , .
D) wvsHu s
AAOGSNT . 18
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46. @ What was the fund limit of a small scale industry in the tenth five year plan?

417.

48.

(A) 75 lakhs I _ B) 100 lakhs .

W 50 crores : | (D) 75 crores
WELULEELE O] ﬁl_l_.gﬁm Sm Glg;rrg@w Ppeuamhsafer (8 oo eearer? »
A 75 w;&m . @B 100 mL.m.o ‘
(C) 50Csmg ' ‘ D) 75Camg

. The 1857 Revolt was sparked off due to the reason

Q) New form of turban
Greased Cartridges .
(C) Doctrine of Lapse
(D) Abolished the Bata

1857-%5 A () 5@55@155@ 2 L amg.é STTesTLD
Q) ydu aums gaLuTESE ’
B) Qsmpiy gl..eﬁluJ Gl Lnésen

(C arfls @@mqs Qarétens ‘

D) @l tiug 758 Qatuh,sé)' '

Auhippd.com

Who repealed the Vernacular Press Act and earned much popularity among India?

(A) Lord Curzon
& Lord Ripon
(© Lord Lytton
(D) Lord Maya » '

BTG Qumf Qeiidsser s L_sog 165 Aeiig @bHu wasallan Gu Qu@npd e Auppa

(&) sitgen 9y

®  Aouer Gy |
(C) edllem Gy - - o | .
D) GioGur Gy '

19 .
Auhippo.com
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1 1 AUhI%E)O m
49, If 3 of a pencﬂ is black, E of the remaining is white and the remaining 3—- cm 1s blulfind

the total length of the pencil. :
A) 9cms - ‘ - (B) 7cms
8cms - . (D) 10cms

e Quendlaien 8 -@e 1 LSt as@uq ﬁgpmrwsmm B0 ugHidd und G]a.:msmrr ﬁmmmxmm
-Lﬁg@errsrr UGS 3 Gg.5. B Aimworsayb Qupsrd, Quenflaller Quomgs Serd Granaﬂ?

A) ,9Gs.8 (B 7Q@s8

v/ 8 Qs.15. (D) 10Gs8.

50. A tin of oil was 151- full. When 6 botties of oil were taken out ‘arvld‘ four bottles of oil were

poured into it, it was % full. How many bottles of oil can the tin contain?

A) 35 - | o 10

C) 42 , ' D) 60

@ eramQemmi) .6 —‘1 LT&D gﬁlmbﬁ,ﬁ@ﬁ;g@. &Qaﬂ@;ﬁg 6 |_|1.'_1q.56i'r sraivr@soummuu aTBSgIeAH,

4 19 56T ereRTQlaRTen 2arhHmyd Gurr@g,; 243 i UN&LD ﬂmm@ﬁ@grﬁg crafley, <9|{_r>;5 g eNg L PP )

Qsrererarell i@ eTéSenen L.[L.tq.esGTT eremrolamT Ggsmuu_lrrélg)g,]?

Ay 35 , , B) 40
(©C) 42 - (D) 60

51.  When an amount was distributed among 14 boys, each of them got ¥ 80 more than the .
amount received by each boy when the same amount is distributed equally among 18 boys
What was the amount? o :
A  z 5,010 ' By T 5,020
~ ¥ 5,040 » (D) ¥ 5,000
(B @QS]I_H_CJ]L.I_ Agransawu 14 evweasaia Cu LRdHDL Qurws), Gs @g,nm&mu_l 18 GuflLw
SLOWLEL urma‘él@m Qumps élcm_uua):s eﬁh_ geQaurmeumb T 80 e@asu: Guyé\,rprrrrasm Qgrens

GTGHTEoT ?
(A)  £5010 . (B) 5020
(C) %5040 . (D) ¥5.000
AAOGS/17 20 Y
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52. Cost of 3 pencils and 5 erasers is T 34 and cost of 2 pencﬂs and 7 3rasers is ¥ 36‘\5‘!?4:91090%9@

53.

54.

- X oisflen Bserops ebsQaunm yatals@h igen

apencﬂls v i
8 - ®B) T5

© 4 o ez

3 a@g@sn@&@m 5 sufliunensend  Gaibg v T 34 Gugid 2 a@g@&nwa@w
7 sufitiunensEnd G&rrlrr;g} eflenes T 30 arafled g Gf@g(?asrrsﬁ]w elleneo ereirem?

A) T8 ®B) =5
L © T4 o @ =2 .
Any point on X-axis has its

(A) abscissa zero-

M ordinate zero

(C) abscissa and ordinate are zeros

(D) neither abscissa nor ordinate as zero

A) SerwlL Hussmp LgHwb

(B)  @sTws mp yRUD

(C) SevLwl L wHMID GSSTISE SaMIGET LLgUID

D) ALl L LHHD GESTWLE SaQEET LLRWILD S

The sides (in c.m.) of a right angled ‘triangle are x—1, x, x+1. Then area of the right

. angled triangle is ‘ | o
(A 12sq.em. - . JGsbq. cm.
(C) 20sq.cm. I (D) 22sq.cm. "

.

@ GerCsmenr @05(35%&@5@551 LGS RIGET (Q&LS) x-1, %, x+1 aefldo FQsrCamem

@ss@a;rrm‘rg,@ar urliLeTey _ v .
(A) 12 8.Qe.18. ‘ : (B) 6s&0Qs.15.
(C)  205.@s.5. . D) 2250s.8. . -

o1  AAOGS/7
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55. A cuboid box has the square base of side a cm and height b cm then volume of tﬁ%ﬁﬁﬁ&m

@A a*Pem® o ®B) ab’cm?
, 22
w a’b cm? - ‘ _ (D)) a3b cm?

san Qecuaus Quily geaflar siUUESD sgITLTEaD AssHTSHa LEsD a Qs gsad
Qui_igufe 2 wimd b Qs.5. Zsab G)HLkGan g HaT aTay '
A)  o®b? @583 | ®) ab® Gs.83

272
ab Q@z.18.3

(C) a% @s.83 ‘ D)

56.  Price of a suitcase is increased from ¥ 2,000 fo ¥ 2,500. What is the percentage of increase?
A  20% B 22% | ' '

(O 30% - - 25%

Qui g Quimenlen eflene T 2,000-é0 @@ppg T 2,500-28 afafssiiucLmed; a@&rﬂu.lﬁldr sg6eigb

wimrg? .
(A)  20% o ®) 22%
© 30% D) 25%

57.  The difference between simple interest and compound interest on ¥ 2,400 at 2 years at 5%
per annum compounded annually ‘

A 5 . ‘JQG

© T * . D) T8

T 2,400-5@5 5% e iy disb 2 ganpselld Ao seb safl wliks@n, sald i ysEn

2 arer eflgSlwimsid
@ 25 . ® e
© 1 . o s
- AAOGSN17 | | 22 o
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59

60.

_-5_8. Three men A, B and C can complete a work in 10, 15, 30 days respectively. ASHUPBOFER

together for 3 days then A leaves and C Joms In how many days can B and C finish the

remaining work? .
5 days } N _ B) 6 days
(©  10days - (D) T7days

A B C Grsifr;_zj apenm wellgiser gm Goumeanw safigsaflGu 10, 15 30 prsafled @y liuniadr.

- A~y B-yib epenmy prs@nsE Coipbg Ceuame Lntggieli B A sfledl efiL C G&rrg;g; Glsrrsmﬁ]gprrrr

Bgaparer Gauenaenws B-ujo C-yb erggenan Bl safld @ou}uurr?
(A) Spriser l’ a v B) 6 [BITL_&GET

©  10pmaer D) 7prisa

A car covers a distance of 90 km at a uniform speed Had the speed been. 15 km/hr ‘more,
then it would have taken 30 minutes less for the journey. Then actual speed of the car is
" 45 km/hr  (® 75km/r
(C) 60km/hr - S (D) 90 km/hr
@“ wé]@;_'r;gu admqwners @Gr &mman CeoussHd 90 &.8. Ssms sLSEDF. NSem @w&§§]d§
15 &.18./wefl erammeney a@&ﬂ&&uULq@p‘Q,nw LIIeRT (B;WLD 30 ggllﬂl_rm&m @G@pp@@&@m erafled
| euaybg daenp Fymar Gausid eT5? .
(A) 45 8.5 /wef | | B) 758.8./wef :
© 6088 wadl - D) 908.5/weh -
Median of first eight non-negative integers is ‘
QA 4 o - @ 35
) 8 ' ‘ (D) 8.5
s B GopuHy pp cansaiar e Bmaiiare) org?
W o . ® .35
C 8 | o D) 85
23 - AAOGSNT
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61.. Which of the following pair is correct? . . Au h-ipposm
6400 km and 6.4x10%cm
(B) 2x10*cm and 2x10°mm
(C) 800 m and 80x10°mm
(D) 100 ym and 1 mm |

SipaseiTL_euhmIeT eTeney FLOLOTETEE.?

(&) 6400 km wpmpib 6.4x10%cm
.-(B.) 2x10*cm wiHmp 2x10°mm
(0 800m wHmb 80x10°mm

D) 100 pmuwpg 1mm

62.  The hottest planet of our solar system

(A) Neptune \{ Venus

(C) Pluto- (D) Uranus

GMw GHwusSen s Qeuliuwrer Gamer |
(A)  Opligyuper . (B) uysen
O  yep Gurm - - D) wCrerev

63. A conductor of length 50 cm carrying a current of 5 A is placed perpendicular to a magnetic
‘field of induction 2x1072T. Find the force on the conductor.

uf 5x10°N | 7 ®) 3x10°N

(C) 49x10°N ' | D) 5x10°N

5 A BenGamm L i umyd 50 Q8. Berapeer sLES 2x107° T  snps snem_o Ga;rrqdm_‘&rr‘r'bg -
yosdne Asngssms amaussuBEng. sLgdufler Bg Qewau@b efamsmuis srars.

(A)  5x10°N | (B) 3x10°N
© 49x10°N D) 5x10°N

AAOGS/17 K 24 o
- }Auhippo.com ‘



65..

6.

©
)

.64.’ Which of the following weights the most?
- (A)

One mole of water -
One mole of sodium T \
One molecule of H,SO, a »

One gram-atom of nitrogen

-

SPpsTERTUCIDDET 6T &mmﬁmg,j? '

A)
B)
©

D)

The elements like silicon, tellurium and germamum can be punﬁed by

(A)

@ Gore B v
@ Coned Gemguid

- @m apossany H,SO,

@ STmid Sigm) ML FREH

Electrolytic reﬁmng

Mond’s process

W Zone refining '

()

Pattmson_s process

Auhippo.com

feflgen, ALgyflwb, Agmoreflwb Guream geaflwmisamar gjnu'_nmmu@‘&,‘e_r, uu_lsisru@Lb apep

NGV Wewenh SMOMLWITESED
(B) wna&wl apeom
C) smUIY@ES HIIGLWTESD
D) umigensen D

is the basic unit of classification.
(A) Division _ (B) Family
(© Class L -\ Species
aueslIuTLigelen g (IUL DG : S, GLD.
@) Gy : o B @boud
© ey o D) Aplend

25
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v : - . Auhipp,oem
67. Who coined the term “Biosystematic”? ,

(A) Bentham and Hboker M Camp and Gily
(C) Watson and Crick ) Garner and Allard

“UfGangenen cuemaiLm_iguwd” ereim G_éng')\&merr L&asdinE Asnar() eupgeuiser wir?
(A)  Qupsh LHYDL aooEsT (B) Gaibli wimid Hved
© - @nL&sin Lo,r_bgub s (D) snieni HMID peTTH

68. Bactenal dlseases syphilis is caused by
(A) Vibrio cholerae

\V Treponema pallidium

(C) Neisseria gonorrhoea

(D). Yersinia pestis

Sl9ellev ereimp Lnsle M CHTL 2 (Heurs sryemTonen SO
@) ARG sTRGy |

B) yACurafvr ureliib

(O HevCeMwn AsrCemlwm

D) erdeflur Guemuwv

-—

69. y hormone is called as fight, flight and fright hermone? = *
Epinephrine : . (B) . Glucagon “

(C) Thyroxine (D) - Vasppressin

ahg apmirGomer Camu, gL L b LHNID LWAPHISSD apTTGLoTe aary S@PssILHADE?

(A) qlS]Q;Iao“.ulﬂeiﬂ B) @@é(ﬁsrrasrrdﬂ
C) - ogyraeder - D) eunCGaumiGgeveden
AAOGS/17 - 26 o -2
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708 What is-the theme of the 2017 World Health Day (WHD)?

A
(B)

Move .fox_' health

Food safety

M Depfession : Let’s talk

(D)

- 2017 2 08 a_psbpa)_pnmﬂér SHUAUTmET (plieys Qummer) e1g?

@A)

- (B)
©
(D)

Working together for health

: !.LL.éin‘)QJLb Crradl Qaodgise

2 awTey LUTGISTUL
e Si(pSSID : Gusemd

2 LopasHhsrs Qeanbs Laiurbpe

71. The 104“‘ Indian Science Congress meet was held in

M Sri Venkateswara Uni\}ersity, Tirupathi

(B)
(©)
(D)

Anna University, Chennai

Osmania University, Hyderabad

Jawaharlal Nehru University, Delhi

104eug @‘IDQLLI iBleiliLic &ips Jst'_L_LE B @upm @)L 1b

)
(B)
(O
)

@ QeurisEGLcveurT UDSMOEPSLD, HmLLIS
S|TERTT LILSMOSPEHLD, Daeamar
@6 TRAWIT UOSMOSLSWD, MADSTTUTS

RIS TETE Gp@ LDES@OSPELD, L6

27
Auhippo.com
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' Auhippo‘)m
' 72.  Which one of the following is correctly mabched" ,

J Narayan Murthy - Hoover Medal
(B) Anand Kumar = —  Kyoto prize
(C) Aiswarya Rai - Legion of honour

(D) Amartya Sen " — ° Knight of the order of Arts and letters

| PP iuGuaipmer @l shwns Glurr@;bgjﬂmg?

(A)  prprwes qpizd 0~ apoeui GaLwib

B)  yeps G | - é\GqurGgrr ufls

EC) gdusuﬁun i - aS’@uJa'ﬂ %L'.! -

D). owisfur@sar . -  pl ey S el ey @i e el QL i

73.  Who is the Chief Minister of Kerala? |
(A) Ooman Chandy - ‘ﬁ . (B) A.K. Antony
\M P1naray1 Vljayan (D) Baby John

Cayerm WPSWMDEFT WIMT?
(A)  eibwen sneiy. ' B) .Qs. yer_exf
(O Qemmi efguien (D) Gul e .

74. - With which field, Dev Patel in assoc1ated‘7

(A) Drama . \M Cinema

(C) Fine Arts , v ' (D) Sports

Ggeu UL GL & ahg glepGun® Qs epLwaufi?

®)  prsb B Sertucd
(C) sellen s : {D) eﬁ]smarmm’_@ '
AAOGS/7 28 I . o
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754 - ISRO creates history in space by launching 104 satellites in one go on

76.

717.

Auhippo.com

(A) 15 January 2017
(B) 13t February 2017
© 10 December 2016
15t February 2017 | , o v

104 Qewpers Gesrfsiw;qnm gCr pepurs earamiio Qogisd GevGyr ayerHné Fngenen umt;g,as '
p . ) , .
(A) 15, gaweul, 2017
®) 13 A0pefl, 2017
(©) 10,48, 2016
O 15, @050, 2017«

.

ﬁow many candidates contested in the R.K. Na'gar By-Election in 2017?
A) 127 : 62 .
(C) 68 | . D) 45 | _ _ .

2017-& R.K. p&it BenL g Cairgedied GurrL'_upﬁh'_l_ Geulunerraeflen ereirenfl&ens '
@ 1271 ' ®) 62

(C) 68 ‘ ®) 45

Malaysian Air Flight crash of 2014 was done by |
(A) Syria . "~ (B) Iran

# Ukraine . (D) Pakistan

20143 <p&TH WGP lioraams srad SipsSug
A)  afwr | ' ®) e
(C oswgen " o D) urréﬂeiug;rfdn
29. o - AAOGS/17
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_ - | o ' ' Auhlpp%om
78.  The software used to.navigate through the web igknown as .
(A) Website Web Browser S
(C) Internet. . A(D,) World Wide Web

@mmmg@w 2 welll 9_5615] G Gu)aTGurr@cn crg:?
A Qeemugeand | B @eenw ewd
O Qeoeanwubd D) e esamailu éume gmwuq

79.  ASCI has set up a set of guidelines for celebrities endorsing products in Apnl 2017 ASCI is
(A)  Authorized Standards Council of India
Advertising Standards Council of India -
(C)  Authentic Standards Council of India
(5)] ._ Authentic Standards Court of India

2 HusHi Gutr@n.es@&@ guuaiss aimb @u@sn&@&sm’m sugﬂ@,pa)m Qgsrr@uq g;asrgﬁ]anaﬂ ASCI
gy 2017-@é fimeSlwyereng). ASCI eremuigy.

(A) - Authorized Standards Council of Ind1a
(B) Advertising Standards Council of India
(C) ~ Authentic Stahdards Council of India

_ (D) Authentic Standards Court of India

80. The technology which transforms soybean oil in'tov graphene films in 4 single step is named
. as ' :

(A) , Graphsoy Technology
Graph Air Technology
(C) Bean Graph Technology
- (D) Nut Graph Technology

Gomunr Seuey aam@emeaw nepl uguwid oraSdr uLeBEeTTS :L@Lbngpgow G&u_iu_uo :
AsmADEI b Qe QuufiL il Hererg)

A  HorluGemi AgmBidE Lib
B dyrlugt AsmPhmIC b
©) Sendlgr.L AsmADHIL LD
D) pLArT QamAnmLub

AAOGS/17 . 30 ‘ o
’ - ' Auhippo.com . ‘



81.

82.

Pick out the correct statement

A

~Match the fo]_ldwing:
Earth Quake Relatedtoyeér 4
(a) Lomaprieta 1. 1999 ‘
(b) North ridge 2. 1989
"(c) The Turkey 3. 2003
(d) The Algeria 4. 1994
(a) (b) © (d)
A 2 1 3 4
B) 4 3 1 2
©, 3 2 4 1
' 2 4 1 3
- QUNBSEIS
yeflwuPred ‘ QgrLiLerer e[
() Comom9fiimr 1. 1999
®)  prisce 2. 1989
© somsd 3. 2003
@)  o@dhur ’ 4. 1994
@ O © @
A 2 -1 3 4
B 4 3 1 2
© 3 2 4 1
o 2 4 1 3

Auhippo.com

LY

India receives 75 pei'cent of its water supply from ground water mining

w Saudi Arabia receives 75 percent of its water supply from ground water mining

©

Iran receives 75 percent of its water supply from ground water mining

(D) Sudan receives 75 percent of its water supply from ground water mining

sflwrer eflenLepw 5@7@19!:;.&56'.]@ '

@A)
®)
(©)

®@)

Auhippo.com

31

- @pdwn 75 eflssr® ey Hagsi. Bi apeud ngné,lésrg)g
@8l <G 75 Aapsst® Seor Hossy. Bi apeid Qupflerpg
e 75 efpsst® for Hwss i aped Aupdes)
@Lnen 75 eflésr(® feoy Hagsiy B aped Qupdenps
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83.  Theory that explains the location of industry .

] Weber's Theory
(B)  Christaller Theory

{(C) Vonthunan Theory

D) Malthus Theory

“@gmflos semwell Gamur@®”
(A)  Qeuui Camlun(

®B) Afevraf Cariur®

(C) eunengneren Gam_un® |

. D) wragev Garium@

84. ‘Aryavarta’ referred to
(A) Central India
- (B) Srilanka
(C)  South India

\p”” North India

- QYTWeUTSSLD eTaTiLBeug
@ oshu@pBun
B) Qenms
(©) . Qaamafipdur
D) aL @bHur i

85. The last Mauryanr king waé
(A) - Kunala N (B) Dasaratha
(C) Samprati ‘ , Mﬁhatratha

Quarflu eubsgHen senLf Bygaen

(A) @emmeren : v B) seygen

©) smbAys D) Agsprzer
AAOGS/17 o 32 o .
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86.  Match the leaders and their reform movements. :
(a) Raja Ram Mohan Roy 1. Theosophical Society
(b) Dr. Atmaram Pandurang 2. Arya Samaj
(¢) Madam H.P. Blavatsky ' 3. Prarthana Samaj
(d) Dayananda Saraswathi 4. Brahmo Samaj
@ ® © @
@ 4 2 1 3
@) 3 2 1 4
0 2 1 4 3
\V 4 3 1 2
T seps gnﬁ@gg eumglaeneru|b aqeurrasaﬂso'r @u.lmrma;a)a'ruw Gurr@g;gjas '
(a) grgrymd Guorserymi 1. AQpbwgyren Feau .
(b) yswLIMbd LTSTHIFE 2. fwsorghd
(© GuebHP Qerreuc cvd 3. Gyriggenm sorgD
@ swrenbs syaveus 4. AQpow FoTRD
" (a) () (©) (d)
- A 4 2 1 3 ,
3B 3 2 1 " 4
<€) 2 1 4 3
D 4 3 1 2
87. - Bimbisara belongs to which dyna'sty?
‘M - Haryanka Dynasty
(B) Shisunaga Dynasty
(C) Nanda Dynasty
(D) Mourya Dynasty
GbGFTen eThS CUDFSMSF &fr{‘r;isgm 72
(A apfLBEST QbsD. ’
B) Haprs eubsbd
(O pbseubs
| '(D) " Quetflw auib&td
e’ | : . 33 - | | AAOGS/N7
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88. How many kinds of Delhocracy are there?
@ 3 S o
© 1 ' D) 4
w&serm_4 aﬁgmafmm&ﬂu@&? ' :
@ 3 _ : B) 2
© 1 : . D) 4
89.  The most poi)ular form of Governinent in modern days
(A) Monarchy
(B) Oligarchy
| Democracy
(D) Hierarchy
shsTosHo Bseyb GrdsH QU DwsTiis e
(A) wenengml 4
B) owd @q.urfﬁ.&ﬂ )
© m&gq'rm'_eﬂ
(D) staundary gy 8 '
90.  Election Commission of In&ia is situated at
New Delhi
(B) Mumbai
(C) Chennai
(D) Moradabad
- @pw Cairgedr yeerrwid a;mm.r_'r)gjdfm JC\[T
@)  yg GLee N
B) @weu -
© Qservar - |
D) Q‘purrgrru‘rrg
AAOGS/17 | 34
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91.

92.

g3,

94.

*

The father of Local Self Government is | | ‘Auhippo.com
(A)  Gandhiji - J Lord Ripon
(C)  Nehruji . . (D) Mountbatten
2 GremTL.& DijeTiES S FHwS ey DPSSILHET?
@A)  sHHH . . (B Aoudr Gy
© Cpogd | ' D) weyer CuiLar
Money bills can be delayed by the Rajya Sabha only for
(A) 30days A . (B) 20days

14 days S (D) Tdays
Hf wBsmgrssar e Simafenme aggmer ;brrl;Sér WG 5rru$gi1u®§gmrn.b?
(A) 30 priser- ' B) 20 pr a6
(C) 1l4pmsear » D) 17 priser
44*» Amendment Act came into force in the year |
A) 1976 | B 1947
(). 1950 | G 1978
g s LGHOHHD BPLYPODES UDS BB -
(A 1976 - - (B) 1947
(© 1950 - , (D) 1978
The first census of India was taken in the year
(A) 1870 - - @2
(C. 1874 ' L (D) 1881
@pHuneldr apgenapsedle EEET GFTas SaTEERUL BLbs HHTH
(A) 1870 S B 1872
(C)y 1874 ' o - (D) 1881

3B . AAOGSNT
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95. Inthe procession. against the Simon Commission he recelved fatal injury and dxébd'lﬂlgg ogm ’
(A) Bal Gangadhar Tilak o J Lala Lajpat Rai :

- (©)  Tiruppur Kumaran (D) Gokhale ‘ _ - |
angwen GpellD@ erdymen (Surru'rrl'_l_{sﬁ@ spg Qere® sTwwemLbg Wenent 2 ulli 5§§mr‘r
A)  ure shsTEr HeosT ' B) arer aSg‘qumru‘.l
C) Sy @worer : - D Gsn&éw o

96. In 1928 a committee consisting of eight, was constltuted to draw up a blue print for the
future constitution of India. It was headed by

(A)  C.R.Doss : v ' (B) Lal Bahadur Shastri _
Mothilal Nehru ‘ (D)’ Mohammad Ali Jinnah

1928-& erflitsne @bHureiler Srflueemwbliy &L LD gatmy auayausnd B Cuir Qsrar_ @
FHu BssIULLgl. Qg6 e :
(A) = C.R. gmev (B) ome usgnt sravAfl \
(C©) Guordere Cpm ' D) &g e ener .

97.  Which of the following statement is not correct?
(A)  Lord Mount Batten was made the ﬁrst Governor General of Independent India
(B) Mohammad Ali Jinnah became the first Governor General of Pakistan
(C) On 15%h Aug 1947 India became an mdependent state
W On 16t Aug 1947 Pahstan became an 1ndependent state

EpsaeiTL SnHDISEEET HoupTRIS| srgj?

A)  sspdn @pﬁumﬁ]m WP FOVEMLD %@pﬂ‘ G]Loenewn_ Cut' e
‘B) unﬂsmgrraﬂm WPBD FOQVMIO @B PELF Si6 genanm

(©) 1947 gyaavr. 15-gyb prar @pHwum &SHETD a.'mL.nj,ﬁg

(D) 1947 gyaavi 16-pb BreT urdevgmer sEHETD SimLpsg)

AAOGS/N7 . %6, o
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: 98 * In which years was the import of food grains in India is Nil? - |
@) 1989and 1990 | ‘
(B) 1993 and 1994 ‘
1995 and 1996
(D) 1997 and 1998 -

@ﬁﬁwnaﬂm 2 awey greflwrisefier @nsEnod LRewiors Gmbs spET6 %rg?
@) 1989 wpy 1990 '
©(B) 1993 wpmid 1994
C(© 1995 wipi> 1996
D) - 1997 wpmo 1998

99. In which Agricultural Crop productidn does India stand first in the World?_ '
" (A)" Rice ' MGroundnuts
" (C) Tobacco - - ' ’ ' (D) Sugar '

apg Gauarmaimaniots LW e HUSHGD @BALT 2 wddr wpsd G Hhdng?
A <ofa : (B) GCearsL e

©)  yewseow D) srégery

100. How much does India confribute to the world sugar production?
™ 15% | - | (B) 20%
(O 25% S - D) 30% -

aa)a;&r’ré;asmrf 2 pusSudes @pﬁmn@ﬁ]m LIS TEHMET FHEHD?

@ 1% . (B 20%
© 2% . - @) 30%
@ Auﬁ”lgpo}com AMOGSNT
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GENERAL STUDIES
|  (H.S.C. Std) |
Time Allowed : 2 Hours] .

[Maximum Marks : 200
Read the following instructions carefully before yém begin to answer the questions.
IMPORTANT INSTRUCTIONS
1. The applicant will be supplied with Question Booklet 10 minutes before commencement . of the

examination.

2.. - This Question Booklet contains 100 questions. Prior to attempting to answer the candidates are
requested to check whether all the questions are there and ensure there are no blank pages in the
question booklet. In case any defect in the Question Paper is noticed it shall be reported to
the Invigilator within first 10 minutes and get it replaced with a complete Question Booklet.
If any defect is noticed in the Question Booklet after the commencenient of examination it
will not be replaced. ‘ : :

- 3. Answer all questions. All questions carry equal marks.

4. You must write your Register Number in the space provided on the top right side of this page. Do not
write anything else on the Question Booklet. ) o

5. An answer sheet will be supplied to you, separately by the Invigilator to mark the answers.

6. You will also encode your Register Number, Subject Code, Question Booklet Sl. No.-ete. with Blue or
Black ink Ball point pen in the space provided on the side 2 of the Answer Sheet. If you do not encode
properly or fail to encode the above information, action will be faken as per commission’s notification.

7. Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct

* response  and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for

each question. Your total marks will depend on the number of correct responses marked by you in the
- Answer Sheet. , a S '

8. In the Answer Sheet there are four circles @ , , © and @'against each question. To answer the
questions you are to mark with Ball point pen ONLY ONE circle of your choice for each question. Select
one response for each question in the Question Booklet and mark in the Answer Sheet. If you mark -
more than one answer for one question, the answer will be treated as wrong. e.g. If for any item, (B) is"

* the correct answer, you have to mark as follows : g : ‘

@000

9. You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the examination.
the ination ig conclu ou must hand over vour Answer Sheet to the igilator. You ar

allowed to take the Question Booklet with you only after the Examination is over.

10. The sheet before the last page of the Question Booklet can be used for Rough Work.
11.  In all matters and in cases of doubt, the English Version is final.
12. Do not tick-mark or mark the answers in the Question Booklet.

13.  Failure to comply with any of the above instructions will render you liable to such action or pe‘nalty as
"~ the Commission may decide at their discretion.
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